MAST Ik
578 965
193 957
713 643
420 179
238 265
470 786
920 287
134 436
375 304
456 506
264 635
148 460
415 894
630 981
362 927
265 369
589 963
405 716
402 958
503 462
541 360
908 809
146 347
239 159
476 274
761 103
127 485
160 172
182 103
358 761

1088 % —2HT=3#7

11 XE,200 = 50
2 X7 7 = 43
3 4£9,9/0 = 70
4 385,850 = A
5 7,6/ 6 = K
6] LL,090 = /4
7 E§E,3K0 = 76
8 VAN /3
9 XXE7E = 6/
10 5,472 = /2
11 /7,536 = A
12 2,664 = /&
13 36,/08 = &7
14 28,280 = s
15| /3,756 = 38
8| /&6,/465 = &/
17 37,626 = &4
18] 37,260 = ? 2
19 27,336 = 68
20 S&,7/3 - 7/
21 /5,689 = 27
22 597,020 = &5
23 4,964 = S4
24 /6,073 = &7
25| REOE4 = 59
26 LE,Z/E = 38
27 AR/ VEA &L
28 2,720 = /7
29 /5,288 = &Y
0| RE,492 = A

F1(11~20)

BEZELANL

| &£7,85/ 8 7/
2 446,770 70
33| 22,508 )
4l /3,067 73
3B 5,708 77
36| 77,028 78
37| /3,776 48
38| 4,552 57
9 //,552 38
40 5,420 70
“ul 38,735 &/
42\ //,040 LY
3 546,322 63
44 /2,753 /S
4 75,087 &/
46| /0,332 LE
47| 446,24 48
48| Q4,344 sS4
a9 7/,8550 75
50 7,240 L0
51| /5,480 43
52| #£&,//35 57
53| 4,637 7/
54| 4,042 S&
55| /&,325& &7
56| 2,/ 63 2/
57| L4,250 50
58| 7,288 sS4
59 /,236 /L
60| 26,638 )




